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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 932494247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following view can you use to show just the slide and its contents in PowerPoint?

Options:
1 % Normal

> % Slide
= # Slide show

4  Notes page

Question Number : 1 Question Id : 932494247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 2 Question Id : 932494248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following storage devices uses transistors to store data?

Options:
1 ®= SATA disc
> % PATA disc

3z % IDE disc

4 « Solid State disc

Question Number : 2 Question Id : 932494248 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
. » T (SATA) Bw=

, « T (PATA) %
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Question Number : 3 Question Id : 932494249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the functionality of the AutoCorrect feature across all MS Office applications?
Options:

, « Replacing misspelt words with the correct ones while typing.

- % Replacing grammatically incorrect words with a blank.
- » Replacing repetitive words with the word *same™.

4 % Replacing selected words with the word “auto™.

Question Number : 3 Question Id : 932494249 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 4 Question Id : 932494250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A printer’s image quality is usually measured in

Options:



, % characters per second

- % Dpages per minute

-  dots per inch

4 % Dpixels

Question Number : 4 Question Id : 932494250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 932494251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used to identify the data stored in a field?

Options:
1 % Table

> « Field name

o,

= % Box

Bracket

o
u

Question Number : 5 Question Id : 932494251 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 932494252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a URL?

Options:

, » Asoftware package used to cruise the World Wide Web.

- « The address of a resource on the World Wide Web.
= % The term used to describe an Internet wizard.

4 % Alive chat program (Unlimited Real-time Language).

Question Number : 6 Question Id : 932494252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

URL = 37
Options:
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Question Number : 7 Question Id : 932494253 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is background software that helps the computer to manage its own internal resources.

Options:
1 System software

> % Device driver



= % Internal software

4 % Application software

Question Number : 7 Question Id : 932494253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 8 Question Id : 932494254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Function keys of the computer keyboard are used:

Options:

, « as keyboard shortcuts for specific tasks.

-~ % to cancel selections or procedures.
- % toenter numbers and arithmetic symbols.

4 % tocontrol the insertion point on the screen.

Question Number : 8 Question Id : 932494254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 932494255 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which protocol provides an e-mail facility among different hosts?

Options:
1 % FIP

5 « SMTP
= % TELNET

4 % SNMP

Question Number : 9 Question Id : 932494255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % FTP

, ¢ SMTP
- = TELNET

. % SNMP

Question Number : 10 Question Id : 932494256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
_are the types of inexpensive dizital cameras that remain tethered to a computer and are used for videe-conferencing,
video chatting amd live web broadeast,

Options:

1 « Webcams

-~ % Webpics

- % Browsercams

4 % DBrowserpics



Question Number : 10 Question Id : 932494256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 932494257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Most application software today comes with an interface which is called a(n) user interface.
Options:

| « raphical

> # character
3z ® icon

4 % button

Question Number : 11 Question Id : 932494257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 932494258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A(n) is a text that you want to be printed at the bottom of the page.
Options:
1 % header

- % endnote
- # footnote

4 « footer

Question Number : 12 Question Id : 932494258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 257 (header)

-

« TEdAe (Endnote)

2

TeAe (Footnote)

o R

e %Y (Footer)

Question Number : 13 Question Id : 932494259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What 15 the term nsed for the word processing programs that shows vou directly on the PC screen the appearance of your
final document as you imnight axpact when the document is printed on the paper?

Options:
, w Search and Replace

- » Pagination

5 w Soft Copy

4 v WYSIWYG

Question Number : 13 Question Id : 932494259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 14 Question Id : 932494260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Superscript, Subscript, Smallcaps, and Strikethrough are known as:

Options:
, w fontstyles

> « font effects
= % WordArt

4 % text effect

Question Number : 14 Question Id : 932494260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 932494261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In order to edit a chart in MS Excel 2016, you can the chart object.
Options:

, w triple click



> » click and drag

5 « double click

4 % click

Question Number : 15 Question Id : 932494261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 16 Question Id : 932494262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following shortcuts can be used to start a slide show from the beginning?

Options:
1 ® Fl

o R F4
=z W F2

4. ¢ F5

Question Number : 16 Question Id : 932494262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:



4 ¢ F5

Question Number : 17 Question Id : 932494263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is a Telnet?

Options:

, = Network of telephones

> % Television network

-  Used for remote login

4 % Used for remote copy

Question Number : 17 Question Id : 932494263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 18 Question Id : 932494264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the NOW () function return in Excel?
Options:

1« It returns the serial number of the current date and time.

- » Itreturns the serial number of the current day.

= # It returns the serial number of the current week of the month.



4, » Itreturns the current date only.

Question Number : 18 Question Id : 932494264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 19 Question Id : 932494265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the shortcut key to insert a current date in a cell?

Options:

1 % Ctul+D
5 o Ctl+
z % Cil+T
48 Ol

Question Number : 19 Question Id : 932494265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. % Ctrl + D
o o Ctrl + ;
z % Cirl + T

4% Clrl +/



Question Number : 20 Question Id : 932494266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a communication medium using the internet?
Options:

, » Emailing

- % Chat rooms

5  Formatting

4 » Instant messaging

Question Number : 20 Question Id : 932494266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 21 Question Id : 932494267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The signal which shows that a computer is waiting for a command from the user is known as:

Options:
| « Pprompt

- % event
5 % timeslice

4 % interrupt

Question Number : 21 Question Id : 932494267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
| v FFT

z.ﬁm
5 # CISHECASH

4 % FUC

Question Number : 22 Question Id : 932494268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which shortcut key can be used to switch between worksheet tabs. from lefi-to-right in MS-Excel 20137
Options:

, « Ctrl+Page Down

» u Alt+Page Down

5 w Ctrl+Page Up

4 % Alt+PageUp

Question Number : 22 Question Id : 932494268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, « Ctrl + Page Down

, % Alt + Page Down

- » Ctrl + Page Up

4 » Alt + Page Up

Question Number : 23 Question Id : 932494269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which action will take place by pressing Ctrl + Z keys together.?

Options:



1 +« Undo the last action
> % Redo the last action
- u Addanew page

, » Paste the contents from the clipboard

Question Number : 23 Question Id : 932494269 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 24 Question Id : 932494270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By pressing Ctrl — A together in a Word document, which action will be performed?

Options:
, w Align right

> « Select all

5 % Change font

4 % Save document

Question Number : 24 Question Id : 932494270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 932494271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Slot A is generally used for Processors.

Options:
1 « AMD ATHLON

> w Cyrix

- % Celeron

4 % Pentium Xeon

Question Number : 25 Question Id : 932494271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1« AMD ATHLON
-, » Cyrix
=z % Celeron

4 % Pentium Xeon

Question Number : 26 Question Id : 932494272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which type of attack is a threat to the integrity of a network system?
Options:

, w [Iraffic analysis

-  Repudiation



5 » Nonrepudiation

4 % DOS

Question Number : 26 Question Id : 932494272 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| » FarETa faeewuT (Traffic analysis)
> of 9f{caeT (Repudiation)

g ® s 9ffe@meT (Nonrepudiation)

4 ® DoS

Question Number : 27 Question Id : 932494273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A wireless connection is designed to link multiple wired networks.

Options:
, w Dpoint-to-node

- #% mnode-to-node
- % point-to-point

4  Doint-to-multipoint

Question Number : 27 Question Id : 932494273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 28 Question Id : 932494274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

specifies permission granted to a user or a group.
Options:
1 % Access control list

o « Access control entity

- » Discretionary access control list

4 % System access control list

Question Number : 28 Question Id : 932494274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
FUARTRAT A FHE F & 7R AT F fAfose war g

Options:
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Question Number : 29 Question Id : 932494275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
drives are fast, but more expensive than the traditional drives.

Options:
1 % Hard disk

> % USB thumb
= « Solid state

4 % Tape



Question Number : 29 Question Id : 932494275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 932494276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which option is used with the 1s command to list files by modification time in Linux?

Options:
1 % X

2531

2R EE

Question Number : 30 Question Id : 932494276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 %8 X

Question Number : 31 Question Id : 932494277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following process starts when we turn on the power button?



Options:
; % Debug

> % Compile
= « DBoot

4 % Load

Question Number : 31 Question Id : 932494277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

fse7 / Debug

b

1.
., % HIa / Compile

5 E&Ef Boot

4 % @IS/ Load

Question Number : 32 Question Id : 932494278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which file format is used to save an MPEG4 compressed audio?
Options:

1 % mdca

5 % mpdca

=z « mda

4 % mpda

Question Number : 32 Question Id : 932494278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MPEG4 FUTE H2TT & He=ld F (01T &I ¥ BISo WBHS FT 94T a7 rar 872
Options:

1 % mdca



. » Mp4ca

= « mda

4 % Mpda

Question Number : 33 Question Id : 932494279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which file format is used to save JPEG bitmap image format?

Options:

, % Jpgb
> o JPB
- % jpbtm

4 % Jpeg.btm

Question Number : 33 Question Id : 932494279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

. = Jpgb
> v P9

4 » Jpeg.btm

Question Number : 34 Question Id : 932494280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the key combination to open the references tab?

Options:
1w ALT+S

> % CTRL+R



2 % CTRL+S

4 % ALT+R

Question Number : 34 Question Id : 932494280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

v ALT+S
, » CTRL+R
s ® CTRL+S

. % ALT+R

Question Number : 35 Question Id : 932494281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
“The pen moves along both axes™ is a statement true for which plotter?

Options:

, w» Microgrip plotter

-  Flatbed plotter
- u Electrostatic plotter

4 = Inkjet plotter

Question Number : 35 Question Id : 932494281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
"9 gr gREr & e Faar g FUa e s # P ' g2

Options:
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Question Number : 36 Question Id : 932494282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A enables to input your voice or music as data.
Options:
, w printer

o  microphone

3 % scanner

4 % monitor

Question Number : 36 Question Id : 932494282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 37 Question Id : 932494283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which input device converts human speech into electrical signals?

Options:

| « Voice input and rrecognition system

-~ % Scanners

- » Keyboard

4 % Mouse



Question Number : 37 Question Id : 932494283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ha T sAYE Bamw A= ol # Rega whar F oRafda war 27
Options:

lwaﬁﬂwﬁﬁmﬁmmﬁm

Question Number : 38 Question Id : 932494284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A accepts input from a stylus.
Options:

1 % server PC

» » desktop PC

3 « tablet PC

4 % workstation

Question Number : 38 Question Id : 932494284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TH TEeH ¥ TAC TR FHLam 2l

Options:

1 ® 'H_cql'{tﬁﬁl'

- B %qum
. o FEdE G

g4 EI#Q%QIFF

Question Number : 39 Question Id : 932494285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



A is an acoustic-to-electric transducer or sensor and is used to convert sound signals into electrical signals.
Options:
, « microphone

> % printer
% % Voice recorder

4 % plotters

Question Number : 39 Question Id : 932494285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
vF AR gEsgE @ FEe § R e v # Rege v & ofEfs e F R
T TETT ST B

Options:

| FTEHIHA

Eﬁﬁa

_ , da R
4_-%3"’?*|um

Question Number : 40 Question Id : 932494286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
waves in a wireless network are used to transmit signals.
Options:

, % Magnetic

> % Electrical
= « Radio

4 % Sound

Question Number : 40 Question Id : 932494286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
LA AT H 3T T 3TAET Hehdl & =0T H Far Jrar g
Options:




5 v X

4.%;3%3%

Question Number : 41 Question Id : 932494287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wi-Fi stands for wireless
Options:

|« Hdelity

> % fmal
3 % fidel

4 % field

Question Number : 41 Question Id : 932494287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wi-Fi (I=-%TS) & 3T ¢ - I1ated .
Options:

, v ThefereT
% T
E.Qﬁ%ﬂ

4 % Bros

Question Number : 42 Question Id : 932494288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
methods are also used to protect data and password privacy.
Options:

|« Encryption



> % ARP
s % NAT

4 % Secured

Question Number : 42 Question Id : 932494288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2T IR 9EEs 9ArTar Fr T & o &t & ofr 39 &Far Jar 2
Options:

o B T’:m'ﬁ

5 % TATEL

4.5»3@3‘111%

Question Number : 43 Question Id : 932494289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which program 15 run by B1OS to check whether hardwars components are working properly or NOT while the computer is
turned on'’?
Options:
, % DMOS

> « POST
2 ® CMOS

4 ® RIP

Question Number : 43 Question Id : 932494289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FET F I WA T BIOS AW FIF W I0H TEE A1 § FOTE FAS 7 FIERI FA F F IS
FIESOT UEE & § FH F1 TFT & ;T A4l

Options:

, » DMOS

> « POST



. = CMOS

. % RIP

Question Number : 44 Question Id : 932494290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In MS Excel, the output of the function ROUND(123.73.1) will be:

Options:
L 1237
> % 123.1

3 % 1247

4 % 124

Question Number : 44 Question Id : 932494290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

el ROUND(123.73,1) % MS Excel # H1329e a1 grM?

Options:

| v 1237
> % 123.1
s % 1247

4% 124

Question Number : 45 Question Id : 932494291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A consisls of a protocol, demmaim narme, and sornetimes the path 1o a specific web page or location on g web page,
Options:

1 URL

> % OSP
s % ISP

4 % NetBEUI



Question Number : 45 Question Id : 932494291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T # e, B8 A Al sl i B 2w o o T e 3w 99 or = s ooy BT B
Options:

. v URL
-, % OSP
5 = ISP

. = NetBEUI

Question Number : 46 Question Id : 932494292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which class of IP address provides a maximum of only 254 host addresses per network ID?

Options:
1 # Class A

- % Class B
5 o Class C

4 ® ClassD

Question Number : 46 Question Id : 932494292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

IP address T T TT T°T 9T 3eT% |ID J0=ax 254 T 99 YSTT FIaT 27
Options:

1 ® Eﬁﬁ'A

Question Number : 47 Question Id : 932494293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is the mode of acquiring knowledge by means of the internet and computer-based training programs.

Options:



, % Enterprise resource planning

> % E-comimerce
-  E-learning

4 wu E-bay

Question Number : 47 Question Id : 932494293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tevee AT Feger smufiE st sEEAT & Aes ® TS W w1 F B UF ATH E

Options:

|« 3CTH HETIS 3
,
. o S

4 % é-'é-

Question Number : 48 Question Id : 932494294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A ddigital signature envelope is decrypted by using the kev.
Options:

; = merchant’s private

-  recipient private
5 % merchant’s protected

4 % recipient public

Question Number : 48 Question Id : 932494294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Bfeee graner e &t & 39T ganr e fEar g

Options:

| T e g
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Question Number : 49 Question Id : 932494295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
chart can be used for scientific data in MS Excel.

Options:
1 # Line

> « Stock
= % Area

4 % Surface

Question Number : 49 Question Id : 932494295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MS Excel & 37l 27 & forw TqE FT FIT foFaT ST FFRaT B
Options:

1 % olTSe
o o ETE
3 ® yEe)

4 % HAE

Question Number : 50 Question Id : 932494296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a data summarisation tool found in data visualisation programs such as spreadsheets.

Options:
1 # Chart

> « Pivot table



- % Function

4 % Macros

Question Number : 50 Question Id : 932494296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
321 Rggaramsetee S SufE Fisefie # 9T AT ST ARIer 39T 2

Options:

. /e
, v T=€ (Pivot) &8
o % Pareld

4_&3#

Question Number : 51 Question Id : 932494297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
help(s) companies to keep their customers informed about the latest threats and what to do about them.

Options:
. w Security

> % Vulnerability
3 « Advisories

4 % Antivirus

Question Number : 51 Question Id : 932494297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T FAEGT HI A A WA HT S W ® S F . ¥ a1 & giEe w5 oA R

Options:

HI&T (Security)

1 %
, » HdHIEAMSAT (Vulnerability)

ol gAY (Advisories)



4 #® TErETaTH

Question Number : 52 Question Id : 932494298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The advanced tab of the print properties dialog box has number of options.

Options:
1 = five

- % two
3 « four

4 # three

Question Number : 52 Question Id : 932494298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e fwarsaaerasg s 3RE ST d RFearfrasar . Bl
Options:

| % 9T

2.%333'
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READING COMPREEHERMSTONM

Section Id : 93249435
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questionsto be attempted: 1
Section Marks: 5
Display Number Pane: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 93249435
Question Shuffling Allowed : Yes



Question Id : 932494299 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension

Read the following passage and answer the
questions that follow:

‘I"'m too fat. I'm too thin. My nose is too big. I've
got blotches on my skin. I don’t like my legs.” Is
there anyone on earth who is completely satisfied with
how they look? Most of us would like to change
something about ourselves. Our self-esteem, in other
words, how much we like ourselves. is very often
based on how we think we look. If we are not happy
with our looks. we feel unhappy with ourselves.

Young people, especially girls, see beautiful models
on TV or in magazines and think, ‘I want to look like
that too.” They imagine that if they were slim and
beautiful, their lives would be better. Of course, there
is nothing wrong with making the best of what we’ve
got. But problems start when we become so self-
conscious about how we look that we make ourselves
unhappy. The way we think we look is often not the
way others see us. We may think we have fat legs or
our eyes are too small, or there isn’t enough muscle
on the biceps. But, when someone looks at you. they
see the whole person and not one particular feature.
We are all different and how we look has a lot to do
with heredity. We may have the same build as our
mother or father and there is not a lot we can do
about it. You may not believe this, but being good
looking does not mean being happy. Happiness is
something that comes from how you feel inside not
how you look.

Sub questions

Question Number : 53 Question Id : 932494300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the writer, our opinion about
ourselves depends upon:

Options:
1 % our self-esteem.

> % beautiful models.

= # blotches on our skin.



4 « our looks.

Question Number : 54 Question Id : 932494301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Why is it that the way we look at ourselves is NOT
the way others look at us?

Options:

, w Others do not look at us carefully.

-  Others look at us as a whole person.

= % We want to look like others.

4 % We become self-conscious.

Question Number : 55 Question Id : 932494302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
I’'m too fat. I'm too thin. My nose is too big.

I've got blotches on my skin. I don't like my legs.’
Who thinks like this?
Options:

1 ® Models

> % Some of us
3 « Most of us

4 8 Our parents

Question Number : 56 Question Id : 932494303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘We have little control over how we look because:
Options:

1 « of what we inherit.

- % Ofthe built of our parents’ bodies.

= % Wwe want to be like beautiful models.



4 » We only imagine being good looking.

Question Number : 57 Question Id : 932494304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Looking good does NOT make us happy because:
Options:

, w others see us differently.

- % happiness comes when other admire us.
5  happiness comes from within.

4, % oOthers make us feel happy.

Question Id : 932494299 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions




Question Number : 53 Question Id : 932494300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

dgH & HFAN I 91 H FAN 1 RE
W AR Far g

Options:

| % BAR HcH §FAH

e HAEar 9%

o ® 2

- BRI =T & HEE W

Question Number : 54 Question Id : 932494301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

vET T ¢ F SW 9w ¥ gH T T dEy
T RN v e ¥ gt e
aTd 82

Options:

| » SR EH WEUET ¥ A€ & g
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Question Number : 55 Question Id : 932494302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘# g FHieT g/ # FgF I §1 H 71 T 57§ A &7 W FErE &1 ;N FieA HeIr g7
Options:

1 ® Fﬁ?ﬁ

= B H W FT
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Question Number : 56 Question Id : 932494303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gH ¥ 3T § 5§ W gAN Tgd FA foroor & Fifes:

Options:

| v B 3cIUER § T 9o 4 g

. » AN ATEr -Far F elY H w@=T|
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Question Number : 57 Question Id : 932494304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3T e & g G A2 AT § Fit:
Options:
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OUANTITATIVE AFPTITULE

Section Id : 93249436

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 93249436
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 932494305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What approximate value should come in place of the question mark (?) in the following question?

96.996 % 9.669 + 0.96=7
Options:
, ®% 860

> % 870
s % 1020

4 « 940

Question Number : 58 Question Id : 932494305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

frrafof@e wea # e Bes (7) F T W IFFATAT HAod FI7 AT =11g0?

96.996 x 9.669 + 0.96 =7
Options:

, % 860
, % 870
5 = 1020

4 v 940

Question Number : 59 Question Id : 932494306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Ihe ratio of the present aces of Anubha and her mother is 1 : 2. The ratio of their ages & vears hence woulbd be 11 - 20 What
was the ratio of their ages 9 vears ago?
Options:
1 % 3:5



3.531 4
4 213

Question Number : 59 Question Id : 932494306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ﬁmmmﬁrﬁﬁmmmaﬁwﬁzmm#ﬂaﬁmmaﬂgmﬁmﬁﬂ:zn
mlgﬁqgﬁaﬁﬁaﬂga?ragwwm?

Options:
% 3:8
oM 2 : T
2% 1:4
aonbie & D

Question Number : 60 Question Id : 932494307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Arjun got simple interest of T 750 on a principal of T 2.500 in 4 years. What is the rate of interest per annum?

Options:
1 % 6.5%

Question Number : 60 Question Id : 932494307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
3 H T 2,500 F HUwT W 4 I¥ H T 750 HURUT =00 Fred g3l I =TT ST F7 272

Options:

. % 65%
- % 6%

o ® ?%



. v 7.5%

Question Number : 61 Question Id : 932494308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

]fz . +l — . where p. g and r are positive integers, then the value of (p + 2q + 37) is:
T

1
r+=
5

Options:
1 ® 7

o> ® 11
3. v 19

4 B 21

Question Number : 61 Question Id : 932494308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

:rﬁ;z:g:wq: e p,q For r ofSfes UoiF & St (0 + 29 + 3n) =1 Tou = &2

Options: -
1. % 7
= 2 1]
2 ¢ 19
L8 2

Question Number : 62 Question Id : 932494309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If #%o of the sala price of an article is equal to 9% of its cost price and 10%0 of its sale price exceeds 11% of its cost price by
© 2.10, then the dillerence of sale price and cost price of the artiele will be:

Options:

1 ® <75

o ® ?85
o ® ?95

4« T105



Question Number : 62 Question Id : 932494309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afg e TEg & T wET & 8%, TWE wT AED + 0% F et ¢ AR ewes TR gew oW 10%, s
T #E & 11% ﬂfz.'lﬂﬂ'aﬁfhﬁl%’ﬁrﬂéﬂﬂ;ﬁﬁﬂnﬁﬂaﬂ?vllilﬁ el # 757 g gem?
Options:

% 75

, % T 85
2 % TO5

4 v T 105

Question Number : 63 Question Id : 932494310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
1 4 3

The value of — i = — g
J11-2430  sg+443 J7—2410

Options:
1.+ 0

Question Number : 63 Question Id : 932494310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

1 4 3 Fy
—_———— — — T JeF fhaar 87
4/ 11-2+/30 W 8+44/3 A 7T—=2410 ™

Options:
1. ¢ 0
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%
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Section Id :
Section Number :
Section type:

GEMERAL MENTAL ABILITY AND REASONING

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Number : 64 Question Id : 932494311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Armange the given words in the sequence in which they occur in the dictionary and then choose the correct sequence,

Brook
Bandit
Boisterous
Baifle
Bright

i A

Options:
;% 2.4,3,1,5

[
"
=
-

L3
Lh
iy

Sub-Section Number:
Sub-Section |1d:
Question Shuffling Allowed :

93249437
4

Online
Mandatory
6

6

6

Yes

No

1
93249437
Yes

Question Number : 64 Question Id : 932494311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T a1 ereet 1 37 FH A cwafeyd # 5W 4 7 T ey 7 @ € AR T 7@ wgFA T4

Brook
Bandit
Boisterous
Baffle

5. Bright
Options:

w24, 3,5

ol S e



o 2l 3 5 A
2% 423 1,5

w8 35 A

Question Number : 65 Question Id : 932494312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If letters from A to M were written, leaving space for one letter bebween every two letlers, and then the remaining letlers
were ingserted. begpmnmg with N and ending the series with £ after 5, answer the following question:

Which letter would be third to the rizht of the seventh letter from the lefi?
Options:
1. % C

2_330

Question Number : 65 Question Id : 932494312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ofg A B M F HETT w9l 8 HET & 6 Us WET & v o oiEey B = ) o o ey e
N & YW &tk M F 8¢ 2 9T 39 w04 HieATeT har Jar B o et 99 & 500 &

Tt 3T T W e 3 o afr droer e =i a2
Options:

1_¥$C

Question Number : 66 Question Id : 932494313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Cardiology : Heart : : Zoology : ?
Options:



1 % Insects
> o Animals
z % Plants

4 % Germs

Question Number : 66 Question Id : 932494313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® Eﬁ?
o ® :ﬂa’
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4 % =

Question Number : 67 Question Id : 932494314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In the question given below, there are two statements labelled as Assertion (A) and Reason (R).

Mark your answer as per the codes provided below:
Assertion (A): The Himalayas once laid under the sea.

Reason (R): Fossils of marine creatures have been traced on the Himalayas.

Options:

, « Both A and R are true and R is the correct explanation of A.

> % Both A and R are true but R is not the correct explanation of A.

=z % A istrue but R is false

4 % A 1s false but R is true.
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In each of the following, four words have been miven, oul of which three are alike m some mammer, while the fourth one 15
different. Choose out the odd one.

Options:
1 ® Pear

> # Apple
3z % Litchi

3 5 oF
4 o Orange

Question Number : 68 Question Id : 932494315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
e & ¥ wedw F, 90 g Br v §, Bed ¥ dw vw o § 9 &F 9hy sew §) Rum EEew g9

Options:

1 ® ETQ!':“H
o R '@fﬁ'
3. CIe

4 « Hdl
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Correct: 1 Wrong: 0
In each of the following, four words have been given, oul of which three are alike i some manmer, while the Tourth one 15
different. Choose out the odd ohe.

Options:
1 # Curd

- % DBuftter

4 # Cheese
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Who among the following is NOT a dramatist?

Options:
1 % Girish R Karnad

- % Badal Sircar

5 » Vvijay Tendulkar

4  Jayanta Mahapatra
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Which river crosses the Equator twice?

Options:
1 ®% Amazon

3 ¥ o
5 Congo

z ® Nile

4 % Orinoco
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The National Bank of Agriculture and Rural Development (NABARD) was established in the year:

Options:
1 % 1970

> % 1975
s % 1977

4« 1982
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% 1970
. % 1975
2 % 1977

4 v 1982
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India’s largest Commercial Bank is the:

Options:
1 # Central Bank of India

> « State Bank of India



= % Indian Overseas Bank

4 % DBank of India
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Which of the following is NOT used as a vector in genetic engineering?

Options:
1 % Plasmids

-~ % DBacteriophages
5  Anopheles

4 % Transposons
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Who among the following was the founder of the Satya Shodhak Samaj?

Options:
1 # B.R. Ambedkar

-  Jyotiba phule
- % Narayan Guru

4 % Rama Swami Naiker
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Wornens History Month is an annual declared month that is traditionally held in March, but the study of
WOITIENS Nistory 15 valuable all twelve months of the vear, Wornen have overcorne daunting odds 1o succead
and excel in all areas of human endeavor, including science, I'ﬂElI'lLlelCtLlI‘iI‘lg, athletics, business, and
exploration.
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Question Number : 77 Question Id : 932494324 Question Type: TYPING TEST Display Question Number : Yes

Motivation is the foundation stone of all athletic efforts and accomplishments. Without a sheer desire and
determination to improve your sports performances, all of the other mental factors are meaningless. To
becorme the best athlete, you must be motivated to do what it takes to maxirmize your ability and achieve the
desired goals. Motivation can be simply defined as the ability to initiate and persist at a task. To perform your
best, vou must have the zeal to continually improve your efforts, until and unless you do not achieve your
goals. While you practice, you will face endless amount of fatigue, boredorm, pain, and the desire to do other
things. Getting distracted would be very easy for you. This is the reason why motivation is so important in
sports. It will impact everything that influences your sports performance, for example, physical conditioning,
technical and tactical training, mental preparation, and general lifestyle. Further, motivation is the only
contributor to sports performance, over which you have complete control. There are three things that affect
howr well yvou perform. The first and forernost factor is your ability that includes physical, technical, tactical,
and mental capabilities. Second factor is the difficulty of the competition. The term difficulty here refers to the
ability of the opponent, crowd, weather and other such external factors to influence your performance. You
hawe no control over these factors. Finally, the third factor is motivation, which is completely under your
control. Motivation will directly impact the level of success that you ultimately achieve. If you are highly
motivated to improve your performances, then you will put in the time and effort necessary to raise your
game. Eventually, vou will succeed in your career. Reports say that athletes, who consistently fail to achiewve
their targets, are generally diagnosed with several signs of low motivation. Some of the major signs or
symptoms include a lack of desire to practice as much as you should, less than hundred percent efforts in
training, skipping training sessions and investing in efforts that are inconsistent with your goals. S0 just
beware of such signs and concentrate on prime motivation, which begins with direction, decision and
dedication. It is very important to consider the different directions you can go in your sport. You will have
three choices, stop participating cormnpletely, continue at your current level, or strive to be the best athlete you
can be. With these three choices of direction, you must select one direction in which to go. Your choice will
dictate the amount of time and effort you will put into your sport and how good an athlete you will ultirmately
becorme. Once you have made your decision, you must dedicate yourself to it
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